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Point K is 12m to the West of point G. Point M is 4m to
the North of Point K. Point J is 10m to the South of
Point L. Point F is 6m to the West of point J. Point G
lies exactly between Point L and Point J. Point F is 5m
north of point O. Point Q IS 18m west of point O.
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Point K is 12m to the West of point G. Point M is 4m to
the North of Point K. Point J is 10m to the South of
Point L. Point F is 6m to the West of point J. Point G
lies exactly between Point L and Point J. Point F is 5m
north of point O. Point Q is 18m west of point O.

In which direction is Point J with respect to Point M?
(a) North

(b) Northwest

(c) South

(d) Southeast

(e) None of these



A

Point K is 12m to the West of point G. Point M is 4m to
the North of Point K. Point J is 10m to the South of
Point L. Point F is 6m to the West of point J. Point G
lies exactly between Point L and Point J. Point F is 5m
north of point O. Point Q is 18m west of point O.

What is the shortest distance between Point K and
Point L?

(a) 10m

(b) 12m

(c) 13m

(d) 17m

(e) None of these



Point K is 12m to the West of point G. Point M is 4m to
the North of Point K. Point J is 10m to the South of
Point L. Point F is 6m to the West of point J. Point G
lies exactly between Point L and Point J. Point F is 5m
north of point O. Point Q is 18m west of point O.

If Point N i1s 12m to the East of Point Q, then what is
the shortest distance between Point K and Point N?
(a) 12m

(b) 10m

(Cc) 9m

(d) 8m

(e) 16m



In the given number ‘85274369’, if all the odd digits

N
/) are decreased by 1 and all the even digits are

decreased by 2, then what would be the sum of the
digits which are not repeated in the new number
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Statements:

Some key is chain.
Some chain is plant.
All plant is lock.

Conclusion:

I: No key is lock is a possibility.
Il: All lock is plant.

(a) If only conclusion | follows.
(b) If only conclusion Il follows.
(c) If either conclusion | or Il follows.
(d) If neither conclusion | nor Il follows.
(e) If both conclusions | and Il follow
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Statements:

Only a few story is real.
No real Iis drama.
No drama is news.

Conclusion:

I: Some story is not real.
Il Some news can be real.

(a) If only conclusion | follows.
(b) If only conclusion Il follows.
(c) If either conclusion | or Il follows.
(d) If neither conclusion | nor Il follows.
(e) If both conclusions | and Il follow
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Statements:

Only pen is city.
Some pen is black.
Only a few office is black.

Conclusion:

I: Some black is not pen.
II: All office is pen.

(a) If only conclusion | follows.
(b) If only conclusion Il follows.
(c) If either conclusion | or Il follows.
(d) If neither conclusion | nor Il follows.
(e) If both conclusions | and Il follow



C Nine personsi.e.,H, I,J,K,L,M,B,Pand T
visit three different cities viz. Mumbai, Pune
| 1BPS PO | and Bangalore but not necessarily in the same
order. At least two persons but not more than
four persons visit the same city. H visits with
T. T does not visit Pune. K visits Mumbai. B
visits neither Pune nor with K. J visits only
With P. More than three persons visit I\/Iumbal
VISI ogether M does not visit WI
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Nine personsi.e.,H,1,J,K,L,M,B,Pand T
visit three different cities viz. Mumbai, Pune
and Bangalore but not necessarily in the same
order. At least two persons but not more than
four persons visit the same city. H visits with
T. T does not visit Pune. K visits Mumbai. B
visits neither Pune nor with K. J visits only
with P. More than three persons visit Mumbai.
L and | visit together. M does not visit with I.
Who among the following visits Pune?

(a) L

(b) P

(c)J

(d) M

(e) Both (b) and (c)
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Nine personsi.e.,H,1,J,K,L,M,B,Pand T
visit three different cities viz. Mumbai, Pune
and Bangalore but not necessarily in the same
order. At least two persons but not more than
four persons visit the same city. H visits with
T. T does not visit Pune. K visits Mumbai. B
visits neither Pune nor with K. J visits only
with P. More than three persons visit Mumbai.
L and | visit together. M does not visit with I.
Who among the following visits with K?

(a) H
(b) T

%8% Both (a) and (b)
(e) None of these




A

Nine personsi.e.,H,1,J,K,L,M,B,Pand T
visit three different cities viz. Mumbai, Pune
and Bangalore but not necessarily in the same
order. At least two persons but not more than
four persons visit the same city. H visits with
T. T does not visit Pune. K visits Mumbai. B
visits neither Pune nor with K. J visits only
with P. More than three persons visit Mumbai.
L and | visit together. M does not visit with I.
Four among the following five are same in a
certain manner and related to a group, who
among the following does not belong the
group?

(a) K

(b) B

(c) M

d T

e) H

SN
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Nine personsi.e.,H,1,J,K,L,M,B,Pand T
visit three different cities viz. Mumbai, Pune
and Bangalore but not necessarily in the same
order. At least two persons but not more than
four persons visit the same city. H visits with
T. T does not visit Pune. K visits Mumbai. B
visits neither Pune nor with K. J visits only
with P. More than three persons visit Mumbai.
L and | visit together. M does not visit with I.
Which among the following pair is incorrect as
per the data given?

(a) I-L

(b) P-J




=)
_

Hina, Kiran, Shakti, Shree, Lata, and Mita are
part of a family in which there are two married
couples. Lata and Mita are siblings. Shree is
son-in-law of Hina and has only one son Mita.
Shakti is only child of Kiran, who is

andiather of La |
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Hina, Kiran, Shakti, Shree, Lata, and Mita are
part of a family in which there are two married
couples. Lata and Mita are siblings. Shree is
son-in-law of Hina and has only one son Mita.
Shakti is only child of Kiran, who is
grandfather of Lata.

How is Shree related to Kiran?

(a)Grandson
(b)Grand-daughter
(c)Daughter-in-law
(d)Can't be determined
(e)None of these



Hina, Kiran, Shakti, Shree, Lata, and Mita are
part of a family in which there are two married
couples. Lata and Mita are siblings. Shree is
son-in-law of Hina and has only one son Mita.
Shakti is only child of Kiran, who is
grandfather of Lata.

How is Shree related to Kiran?

(a)Grandson
(b)Grand-daughter
(c)Daughter-in-law
(d)Can't be determined
(e)None of these



A

Hina, Kiran, Shakti, Shree, Lata, and Mita are
part of a family in which there are two married
couples. Lata and Mita are siblings. Shree is
son-in-law of Hina and has only one son Mita.
Shakti is only child of Kiran, who is
grandfather of Lata.

How Is Hina related to Lata?

(a)Grandson
(b)Grandmother
(c)Daughter-in-law
(d)Can't be determined
(e)None of these
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A certain number of persons sit in a linear row
and all face north. Four persons sit between A
and B. G sits second to the right of B. One
person sits between G and K. The number of
persons sit between B and K is same as the
number of persons sit to the right of K. V sits
fifth to the left of G. P sits third from one of
the extreme ends. P sits just left of V. P sits to
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A certain number of persons sit in a linear row
and all face north. Four persons sit between A
and B. G sits second to the right of B. One
person sits between G and K. The number of
persons sit between B and K is same as the
number of persons sit to the right of K. V sits
fifth to the left of G. P sits third from one of

the extreme ends. P sits
the left of A.

Find the total number of
row?

(a) 14

(b) 13

(c) 15

(d) 16

(e) Can’t be determined

just left of V. P sits to

persons sit in the




A

A certain number of persons sit in a linear row
and all face north. Four persons sit between A
and B. G sits second to the right of B. One
person sits between G and K. The number of
persons sit between B and K is same as the
number of persons sit to the right of K. V sits
fifth to the left of G. P sits third from one of
the extreme ends. P sits just left of V. P sits to
the left of A.

If P sits exactly between V and R, then how
many persons sit between R and G?

(a) Three

(b) Four

(c) Seven

(d) Six

(e) None of these




A certain number of persons sit in a linear row
and all face north. Four persons sit between A
and B. G sits second to the right of B. One
person sits between G and K. The number of
persons sit between B and K is same as the
number of persons sit to the right of K. V sits
fifth to the left of G. P sits third from one of
the extreme ends. P sits just left of V. P sits to
the left of A.

What Is the position of A with respect to W, if
only four persons sits to the right of W?

(a) Immediate right

(b) Third to the left

(c) Fourth to the right

(d) Immediate left

(e) Second to the right




\ Statements:

»

W>Q2P<N=sA;N>R=X

Conclusions:

. A>X
. Q>N

(a) If only conclusion | follows.
(b) If only conclusion Il follows.
(c) If either conclusion | or Il follows.
(d) If neither conclusion I nor Il follows.
(e) If both conclusions | and Il follow




\ Statements:

»

VSBSM=S2F2G=H

Conclusions:

. M>G
. M=H

(a) If only conclusion | follows.
(b) If only conclusion Il follows.
(c) If either conclusion | or Il follows.
(d) If neither conclusion I nor Il follows.
(e) If both conclusions | and Il follow
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L<C2F>Kz2D>M

\ Statements:

Conclusions:

. L<F
II. C>D

(a) If only conclusion | follows.
(b) If only conclusion Il follows.
(c) If either conclusion | or Il follows.
(d) If neither conclusion I nor Il follows.
(e) If both conclusions | and Il follow




»

N>V2L20=sW=sA>D

\ Statements:

Conclusions:

. N>O
1. A>0

(a) If only conclusion | follows.
(b) If only conclusion Il follows.
(c) If either conclusion | or Il follows.
(d) If neither conclusion I nor Il follows.
(e) If both conclusions | and Il follow
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Fourteen persons viz.A,B,C,D,P,Q,R, S, K, L, M, N,
Y and Z sit in two parallel rows (but not necessarily in
the same order) in such a way that seven persons sit
In each row. A, B, P, Q, K, LandYsitinrow 1 and face
north while C, D, R, S, M, N and Z sit in row 2 and face
south. The persons in row 1 sit exactly opposite to the
persons sitin row 2. Y sits diagonally opposite to Z.
One person sits between Z and R. P faces R and sits
Immediate right of A. The number of persons sit
between Y and A is same as the number of persons sit
to the right of M. B sits second to the right of the one
who faces R. Three persons sit between B and Q. C
sits diagonally opposite to Q. C and D are immediate
neighbours. N faces K.
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Fourteen persons viz.A,B,C,D,P,Q,R, S, K, L, M, N,
Y and Z sit in two parallel rows (but not necessarily in
the same order) in such a way that seven persons sit
In each row. A, B, P, Q, K, L and Y sitinrow 1 and face
north while C, D, R, S, M, N and Z sit in row 2 and face
south. The persons in row 1 sit exactly opposite to the
persons sitin row 2. Y sits diagonally opposite to Z.
One person sits between Z and R. P faces R and sits
Immediate right of A. The number of persons sit
between Y and A is same as the number of persons sit
to the right of M. B sits second to the right of the one
who faces R. Three persons sit between B and Q. C
sits diagonally opposite to Q. C and D are immediate
neighbours. N faces K.

Who among the following faces S?

(a) P

(b) L

C
(d)
e

A
B
(e) No

ne of these
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Fourteen persons viz.A,B,C,D,P,Q,R, S, K, L, M, N,
Y and Z sit in two parallel rows (but not necessarily in
the same order) in such a way that seven persons sit
In each row. A, B, P, Q, K, L and Y sitinrow 1 and face
north while C, D, R, S, M, N and Z sit in row 2 and face
south. The persons in row 1 sit exactly opposite to the
persons sitin row 2. Y sits diagonally opposite to Z.
One person sits between Z and R. P faces R and sits
Immediate right of A. The number of persons sit
between Y and A is same as the number of persons sit
to the right of M. B sits second to the right of the one
who faces R. Three persons sit between B and Q. C
sits diagonally opposite to Q. C and D are immediate
neighbours. N faces K.

Who among the following sits third to the left of L?

(a) Q
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Fourteen persons viz.A,B,C,D,P,Q,R, S, K, L, M, N,
Y and Z sit in two parallel rows (but not necessarily in
the same order) in such a way that seven persons sit
In each row. A, B, P, Q, K, L and Y sitinrow 1 and face
north while C, D, R, S, M, N and Z sit in row 2 and face
south. The persons in row 1 sit exactly opposite to the
persons sitin row 2. Y sits diagonally opposite to Z.
One person sits between Z and R. P faces R and sits
Immediate right of A. The number of persons sit
between Y and A is same as the number of persons sit
to the right of M. B sits second to the right of the one
who faces R. Three persons sit between B and Q. C
sits diagonally opposite to Q. C and D are immediate
neighbours. N faces K.

What is the position of M with respect to D?

(a) Immediate right

(b) Immediate left

(c) Third to the left

(d) Second to the left

(e) Second to the right
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Fourteen persons viz.A,B,C,D,P,Q,R, S, K, L, M, N,
Y and Z sit in two parallel rows (but not necessarily in
the same order) in such a way that seven persons sit
In each row. A, B, P, Q, K, L and Y sitinrow 1 and face
north while C, D, R, S, M, N and Z sit in row 2 and face
south. The persons in row 1 sit exactly opposite to the
persons sitin row 2. Y sits diagonally opposite to Z.
One person sits between Z and R. P faces R and sits
Immediate right of A. The number of persons sit
between Y and A is same as the number of persons sit
to the right of M. B sits second to the right of the one
who faces R. Three persons sit between B and Q. C
sits diagonally opposite to Q. C and D are immediate
neighbours. N faces K.

Who among the following sits fourth to the right of the
one who faces Z?

(@)Y

(b) P

(c) K
(d) L
(e) B
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Fourteen persons viz.A,B,C,D,P,Q,R, S, K, L, M, N,
Y and Z sit in two parallel rows (but not necessarily in
the same order) in such a way that seven persons sit
In each row. A, B, P, Q, K, L and Y sitinrow 1 and face
north while C, D, R, S, M, N and Z sit in row 2 and face
south. The persons in row 1 sit exactly opposite to the
persons sitin row 2. Y sits diagonally opposite to Z.
One person sits between Z and R. P faces R and sits
Immediate right of A. The number of persons sit
between Y and A is same as the number of persons sit
to the right of M. B sits second to the right of the one
who faces R. Three persons sit between B and Q. C
sits diagonally opposite to Q. C and D are immediate
neighbours. N faces K.

Four among the following five are alike in a certain
way and related to a group, who among the following
does not belong to the group?

(a) Z

(b) C

(c) Q
(d) R
(e)Y






